F%| @ qErfl (R009091R9) | gFE (SRR | At | @ [ @it | w i [ oo | e | aww | o |Rreata | wwam [w asademd | ofw | (e s
9 [&mr st
=Ter (0 foben) g | g0 | oo | <o [ q¥ox | wso | 90 | qo0 | 3w | R | q00 | quq 390 wo | 300 | w5 | wzs
e (4, ) g [ 430 | qo9q | uxoo | oes | oo RR0 q00 W3 R0 90 | 9330 3R30 qR¥0 | 3940 | YR0 | R303Y
= (30 fepen) arT R¥0 40 {0 RRE 990 4o 00 R0 o %00 RER %40 LSS ¥y {0 4330
T (o fFan) ar [ qRo Yo 990 e PEG) o %0 o o q0 ¥ el o o o 2 %3
#ar (R0 fFan) A ARES q00 q00 %% quo o 930 ¥0 o 20 ¥ o o o o [C3
wEH RSt (1o fren) ElR o o o o 3y o o o o o o 39 o o o 9o
e 3 (R0 fadn) e o o 990 R %0 o o o o q0 o o o o ) Q0%
wER e (4 faen) e | 4500 | ¥oo 99% kS RR00 0 Ak 9« 0 20 20 % R0 o o ¥IR%
TEH Rt (3 fepen) =21 oo o o o o 9200 o o o o o 25 q0 o o o 9235
g far (Y, fedl) Einy = o o o o o o o o o o o o o o =
FET ol 30 o o 3% o o o o o URY, o o o o o ¥Y¥I5Y
T @rEn o 9 ¥ o o o o o ? o [C) o o o o o 5
Eaere o Y o o o o o o o o 3 o o o o o ©
forft (4o farein) armm | wjo | qo0 | wo | qou | ¥zo o 940 o o oy | 98y Yo 20 o o 3954
g (2o faen) a7 | 00 | q4o | 9000 | q9u | ¥uo 0 300 | 4o o 934 o 9URY 999 5o Y ¥29%
IEcy ez 20 o Q0 o Y0 o Y00 30 90 o o o o o o 9400
gfvar fepetr o o 930 o Y40 o Y00 30 40 o o o o o o 9390
w= (4 FRe) e | 950 q00 950 o q¥0 o yo ¥o o 9o o qo00 Yy Q00 9o 9304,
AT (4o o) Eix ¥y Y, o 3 o Q0 o o o o o o e} o %0 RT
oae (¥ feen) Einy o o 9y, ES o %0 o o o o o o o q0 Y 92%
oI (R0 fefen) Iy 90 10 Kt %0 0 400 0 o o o o o 924 50 2 L&Y
R [&TT
W A (Y foen) ElR 5 o Y00 o %9y, o yo q0 X o o 90 S 3 o 9¥9R
HE AT (Y, febedl) g | o q o o 4% o o 3 4% o 0o K %0 K3 o T
@Y g (Y, fepen) T o Y N o ) o o o 93 o o o q o o qo0%
W A (Y o) Eiry o o o o Y o o o o o q o B} W o ?3
=T Tl (Y, fepedn) am o o o o ¥ o o o o o o o o o o ¥
Ereic) sl 3 o oy | oR o o o o | ons ) o o oIRY, o ) %IR8
el a3 Ry fredn) G| o M 390 ° R0 ° Y ° R¥ % o 9% 3 ° ° ¥3s
AT FU3 (Y, fepen) Eix 92 o o o q0 o o o 3 o o o o o o R
=47 (Y, fepedn) T o o q0 o 38y o o o I o o o 95 Y o %93
=T (30 foFen) Iy 3 940 %0 0 0 0 40 1% o o o o o o o 3R
e T 40 Yo
3 |d
Frted a1 (9o faen FeA | 3%0 ¥¥o | quuo sy Y40 o %00 q0 q00 300 qeg q000 9 o o Y09y
FAHAERX aa (Qo faex) | #e| woo 200 | qR00 | 954 500 o %00 Q0 Q00 40 o ¥Y, 9 o o Y958
arér &@ (qo faev) RESH RS q00 240 o 30 o 200 o o R0 %0 R00 2 o o 199%
¥ | I AR
e (4 feren) g [ wo | woo | %00 | 359 | quo Y o 980 o Mo | 33 ) j00 [ qz0 o 3089
=T (YO febell) T 9o o o Q%0 40 o o %0 o o o o o o o 330
I ATHT (Y, febedl) Einy o o 300 o o o o % o o o o o o o 30%
Y | T | u 40 R0 o 340 o o 90 o o 30 %0 3y o o ]
fear T ElR Y o R0 o ¥o o o o o o o o ¥y o o Y50
e Feolfad Tea 4 T (STThATS BT qFeh HIhT HoaTd debete T Jead THCH |




